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RIER O FRIR R EGHE

HH3I—2 EEMCHRATILEESNSERICEISZEEW/) HEFE | PAUEE
SERONE | BmEas | T50A1007 | i | -9 [ mat | ZAmPEHELEH
) SERMO T iRICHEET S aER A
ﬁg TREOBBOEILHOKRES TREDOHBESILADKRES TREOBBOSIEIDOKRES TREOHBESSLADKES
R me | BT e | B2 | e | e | B2 | B R e | B2 | T e | & | e
1 100kN/m##B %% 1.00{0.00 ~ 3.54 157.16|3m%x#%%| 0.00 ~ 1.28| 3.61 18.26| 100kN/m#%#BZ% 1.00] 10.55 ~ 42.00 157.16| 3m%x#E% 5| 25.00 ~ 42.00| 3.61 18.26
s 1.00]3.54 ~ 11.33 100.00f Z=h st |1.28 ~ 11.33] 3.00 15.16 s 1.00] 5.00 ~ 10.55 100.00| =hList | 500 ~ 25.00| 3.00 15.16
9 100kN/mM##8 %% 1.00{ 0.00 ~ 342 154.94|3m%x#%%[0.00 ~ 1.20[ 3.56 18.00| 100kN/m#%#BZ% 1.00] 10.61 ~ 42.30 154.94| 3m%x# x5 30.00 ~ 42.30[ 3.56 18.00]
s 1.00{ 342 ~ 11.20 100.00f Z=h st |1.20 ~ 11.20] 3.00 15.16 s 1.00] 5.00 ~ 10.61 100.00| =hList | 500 ~ 30.00f 3.00 15.16
3 100kN/mM##8 %% 1.00{ 0.00 ~ 3.55 157.41|3m%x# %% 0.00 ~ 1.27| 3.61 18.23| 100kN/m#%#B 2% 1.00] 10.55 ~ 43.94 157.41|3m%x#E% 5| 25.00 ~ 43.94| 3.61 18.23
s 1.00]3.55 ~ 11.34 100.00f Z=h st | 1.27 ~ 11.34] 3.00 15.16 s 1.00] 5.00 ~ 10.55 100.00| =hList | 500 ~ 25.00| 3.00 15.16
4 100kN/mM##8 %% 1.00{0.00 ~ 3.72 160.36| 3m*x#%5(0.00 ~ 137 3.67 18.56| 100kN/m#%#BZ% 1.00] 10.53 ~ 46.00 160.36[ 3mx#Z 5[ 25.00 ~ 46.00[ 3.67 18.56
s 1.00]3.72 ~ 11.50 100.00f Z=h st | 1.37 ~ 11.50| 3.00 15.16 s 1.00] 5.00 ~ 10.53 100.00| =hList | 500 ~ 25.00f 3.00 15.16
5 100kN/m##8 %% 1.00{0.00 ~ 3.90 163.64|3m%x#% %] 0.00 ~ 1.78 4.00 20.20| 100kN/m#%#8% % 1.00] 11.26 ~ 46.00 163.64|3m%#E% 5| 25.00 ~ 46.00| 4.00 20.20})
s 1.00]3.90 ~ 11.69 100.00f Zh st |1.78 ~ 11.69] 3.00 15.16 s 1.00] 5.00 ~ 11.26 100.00| =hList | 500 ~ 25.00| 3.00 15.16
6 100kN/m##B %% 1.00{0.00 ~ 3.78 161.48|3m%x#%%(0.00 ~ 1.58| 3.83 19.35| 100kN/m#%#B 2% 1.00] 10.72 ~ 40.00 161.48|3m%x# x5 25.00 ~ 40.00( 3.83 19.35
s 1.00]3.78 ~ 11.57 100.00f Zh st |1.58 ~ 11.57] 3.00 15.16 s 1.00] 5.00 ~ 10.72 100.00| =hList | 500 ~ 25.00| 3.00 15.16
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
Zh st ~ zh st ~ Fhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhs ~ zhst ~ zhs ~ Lot ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhs ~ Lot ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhst ~ zhs ~ zhs ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhs ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhst ~ zhst ~ zhs ~ ZhLst ~
100kN/M%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/mMZ#8Z % ~ 3mEHEADS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ zhst ~ ZhLst ~
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